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[A] Fill in the blanks with the given words.
infant, wrinkled, slow, sapling
1.The process of growth is slow .

2. A/An infant cannot talk.

3. A/An sapling grows into a big tree.

4. The skin of an old person gets wrinkled .

[B] Tick(v") the correct statement. Put a cross(x) next to the wrong statement.
1.Animals do not grow.(x)

2.A newborn child is called a youth.(x)

3.The skin of a very old person gets wrinkled.(v")
4.Seeds grow into saplings.(v')

5.A child grows into an infant.(x)

[C] Underlined the correct answer.

1.All living /non-living things grow.

2.Young of animals become big/small animals.
3.A young person becomes old/infant.

4. A child can/cannot walk.

5.A/An young/old person has grey hair.

[D] Complete the blanks correctly.

Infant-_Child - Teenager - Adult - Old




